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Unit 6 Fractions

Answers
1.	Work out:
	a)			b)		
	c)				d)		
	e)		2		f)		 = 2
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2.	Fill in the missing numbers:
	a)  	      b) 	   c) 

3.	Nina walks  of a mile to school every weekday, 
	Twice a week she walks  of a mile back home, via the shops. 
On the other three days she walks directly home. 
	How far does she walk altogether in a school week?  
	On 5 days she walks    miles to school.  
	On 3 days she walks    miles back from school.    8 ×   =  3 miles
	On 2 days she walks    miles back from school.      × 2 =  = 1 miles
	Total miles = 3 1 = 4 +   +    = 4  miles

[image: ][image: ]4.	There are 400 students in a school.
  of the school are boys.
  of the girls can swim.
	How many girls can swim?	
	 × 400 = 150 are girls.  × 150 = 100 girls can swim



[image: ]5.	A packet of butter is 500 g. 
Sarah uses 200 g in a cake recipe. She uses half the remainder to make scones. 
	What fraction of the butter is left? 
	She uses  to make a cake, so there is  left. 
	She uses   to make scones and there is  left
	Or 500 – 200 = 300 g left.  Half of 300 g = 150 g.  150 out of 500 =  left

[image: ]6.	For the shape below work out:
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	a)	the area,
	b)	the perimeter.
	Area = ) –  × ( – ) =  – ) =  = 3  m²
	Perimeter of rectangle without piece removed = 2 × ( ) = 2 ×  = 8 m
	The perimeter of the shape shown will be the same – the sides are just in a different place

[image: ]7.	 of the students in a school are boys. 
	 of the boys own a bicycle.
	 of the girls own a bicycle.
	What fraction of the students own a bicycle?
	 of the students are boys who own a bicycle. 
	  of the students are girls
	  ×   =  of the students are girls who own a bicycle.
	Total fraction of students who own a bicycle = 
2
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